Cable Railing Kits & Components

WVIEDDEN
| INpusTAIES |

573.559.0090 1/1/2016
Deck Raing Glss Raing " ADA Rading “Wincroen* Avchiectural Metals* Erusons* Tooks

Madden Industries




Cable 1x19

Stainless Steel

\ )/

|
T316 ————

- Size Construction Material
MT6WR119-18 1/8" 1x19 316L
MT6WR119-316 3/16” 1x19 316L
MT6WR119-14 1/4” 1x19 316L

Cable 7x19
Stainless Steel

T316

& -.-."?} 4
o

ety

- Size Construction Material
MT6WR719-18 1/8" 7x19 316L
MT6WR719-316 3/16” 7x19 316L
MT6WR719-14 1/4” 7x19 316L




Angle Washer
30° / 33° Degrees

Stainless Steel
T316

Y/ Rl
- Size A B
MT6AGWASHER30-14 1/4” 0.256" 0.627”
MT6AGWASHER30-516 5/16” 0.318” 0.708”
MT6AGWASHER30-38 3/8” 0.391” 0.710”
MT6AGWASHER33-14 1/4" 0.256" 0.627”
MT6AGWASHER33-516 5/16” 0.318” 0.708”
MT6AGWASHER33-38 3/8" 0.391” 0.710”
Flat Washer
Stainless Steel A
T316
A
_Part No. Size A B
MT6WASHER-14 1/4" 0.464” 0.250”
MTE6WASHER-14-5 1/4” 0.623" 0.250”
MT6WASHER-516 5/16” 0.619” 0.333”
MTEWASHER-38 3/8” 0.777" 0.417”




Protective Sleeve

Stainless Steel
T316

€ _
_Part No. Size A B
MT6PROTSLY 1/8"&3/16” 0.50” 0.797”
| .
il m— |-
= I
Stainless Steel N
T316 X
I
~{A--
€ _
- Size A B
MT6STEM-18EB 1/8" 0.312” 1.380"
MT6STEM-316EB 3/16” 0.447” 1.610”




Cap Nut
UNC Standard

Right / Left Hand

Stainless Steel A
T316
A 4
- Thread A H
MT6CPNUT-14R Right Hand 0.434” 0.475”
MT6CPNUT-14L Left Hand 0.434” 0.475”

Hex Nut
Stainless Steel

T316

- Thread(A) B

A

MTEHXNUT-14R UNC 1/4” 0.212”

MTEHXNUT-14L UNC 1/4” 0.212”




Swage Toggle Q/ I
Stainless Steel &
T316 “
__4 LkA
Part No. Size(A) B C D
MT6HTST-18 1/8" 0.400” 3.137” 0.232”
MT6HTST-316 5/16” 0.400” 3.137” 0.232”
AA

Threaded Toggle

Stainless Steel

T316
) L

- Thread Size(B) A C D E

MT6TTHR-14R UNC 1/4"RH 0.385” 3.50” 0.233” 0.703”




-~ C

(@F]=:
Deck Toggle n
(Hand Swage) Lo
Stainless Steel i 1
T316 i
- A
Part No. Size(A) B C D
MTH6DTST-18  1/8" 2.941” 1.294” 0.253”
MTH6DTST-316  3/16” 2.941” 1.294” 0.253”
- —C—
— UHke
Threaded
Deck Toggle
Stainless Steel L
T316
A > "
- Thread Size(A) C E L
MT6DTHR-14R UNC 1/4" 1.318” 0.255” 2.947”




Lag Stud

Stainless Steel
T316

€ 4

Part No. Cable Size(A) B C L

MTEHLST-18 1/8" 1.917” 1.475” 4”

MTEHLST-316 3/16” 1.964” 1.901” 4-3/8"

Threaded Lag B
(Hanger Bolt) iR
Stainless Steel W B
T316
\ 4
_Part No. Thread Size(D) B C
MT6LHR-14R UNC 1/4" 1720 1.571"




Threaded ) |
Drop Pin [ = |
Stainless Steel . . |
T316
\ _
- Thread(B) A C D
MT6DPTHR-14R  1/4” 1.01 1.927” 1.948”
A A
Drop Pin Stud rf=—— 1
Stainless Steel | L
T316 o |- _ _
A 4
- Cable Size(A) H L
MT6HDPST-18 1/8" 0.252” 3.745”
MTEHDPST -316 3/16” 0.295” 3.950”




Dome Swage

Stainless Steel
T316
/ D
T
Part No. Cable Size(D) A L
MT6HDOME-18 1/8” 0.628” 2.236”
MT6HDOME-316 3/16” 0.628” 2.375”
Stud/Long Stud j — % "y
u ud [ N S |
(Hand Swage) }mem S j|I I
Stainless Steel === L - - g

T316

4

- Cable Size(B) A C L
MT6HSST14-18L 1/8" 174 1.98” 3.871”
MT6HSST14-18R 1/8” 174 1.98” 3.871”
MT6HSST14-316L 3/16” 174 2.35” 4.301”
MT6HSST14-316R 3/16” /4 2.35” 4.301”
MTEHSST14-18HSXL 1/8” /4 1.974” 10.00”
MT6HSST14-316HSXL 3/16” 174 2.336” 10-3/8”




Stud/Long Stud

(Machine Swage)
Stainless Steel

T316

€ 4

Part No. Cable Size(B) A C L
MT6MSST14-18L  1/8" % 1.982” 3.89”
MT6MSST14-18R  1/8” % 1.982” 3.89”
MT6MSST14-316L  3/16” % 2.664” 4.55”
MT6MSST14-316R  3/16” % 2.664” 4.55”
MT6MSST58-38L  3/8” 5/8”
MT6MSST58-38R  3/8” 5/8”
- A
ﬁ_}‘
|
Pipe Body |
Turnbuckle L
Stainless Steel °=== |
T316 i
D + .
T
- Thread Total Length
MT6PB-14 1/4” 3.75”

MT6PB-58 5/16”




(@@=

Life Line Stud T
(Hand Swage) &
Stainless Steel |
T316 |
)/ A
- Cable Size (A) Thread (B) L
MT6HLSST14-18R 1/8" UNC %” 4.271"
MT6HLSST14-316R 3/16” UNC %” 4.271”
MT6HLSST14-18UNFR  1/8” UNF %” 4.25”
MT6HLSST14-316UNFR  3/16” UNF %” 4.25”
Life Line Stud
(Machine Swage)
Stainless Steel
T316
4
- Cable Size (A) Thread (B) L
MT6MLSST14-18R 1/8" UNC %” 4.271"
MT6MLSST14-316R 3/16” UNC %” 4.271”
MT6MLSST14-18UNFR  1/8” UNF %” 4.25”
MT6MLSST14-316UNFR  3/16” UNF %” 4.25”
MT6MLSST516-316R  3/16” UNF 5/16” 2.10”




Invisible Receiver D T
Stainless Steel I e [TT
T316 ! | ] A
T T T 77T _L
I L————— -
A _4
- Thread Size(T) A D L
MTT6RCVR14-18/316 1/4" 0.621” 0.375” 2.197”

Invisible Stud

Stainless Steel
T316
\_ A
- Cable Size(A) Thread(B) L
MT6MSST14-18INV 1/8" UNC %” 2.701”

MT6MSST14-316INV 3/16” UNC %%” 2.715”




Rod and Stud
w/Closed body

Turnbuckle
Stainless Steel

T316

€ 4

Part No. Cable Size(C) Thread(A) B
MT6PBHSRST14-18 1/8" UNC %" 3.75”

MT6PBHSRST14-316 3/16” UNC %" 3.75”

Stud and Stud
w/Closed body
Turnbuckle
Stainless Steel

T316
\ 4
- Cable Size(F) Thread(A) B C
MT6PBHSST14-18 1/8" UNC %" 3.75” 8-1/8”

MT6PBHSST14-316  3/16” UNC %” 3.75” 8-3/4”




Toggle and Stud

w/Closed body
Turnbuckle

Stainless Steel
T316

- Cable Size(C) Thread(A) B D E P
MT6PBHSTST14-18 1/8" UNC %" 3.75” 0.70” 0.387” 0.231
MT6PBHSTST14-316 3/16” UNCW” 3.75” 0.70” 0.387” 0.231”

Deck Toggle
and Stud

w/Closed body
Turnbuckle
Stainless Steel

T316

4

- Cable Size(C) Thread(A) B D
MT6PBHSDTST14-18 1/8" UNC %" 3.75” 0.250”

MT6PBHSDTST14-316  3/16” UNC %” 3.75” 0.250”

N\ _




Lag and
Swage Stud

w/Closed body
Turnbuckle
Stainless Steel

T316
€ 4

Part No. Cable Size(C) Thread(A) B L
MT6PBHSLST14-18  1/8" UNC %” 3.75” 8-1/8"
MT6PBHSLST14-316  3/16” UNC %” 3.75” 8-1/2"

Jaw and Jaw
w/Closed body
Turnbuckle
Stainless Steel

T316

€ _4

Part No. Thread(A) B C D E

MT6PBJIJ-14 1/4" 3.75” 5.73” 0.193” 0.306”
MT6PBJJ-516 5/16” 4-3/16” 6-1/2" 0.280” 0.425”
MT6PBJJ-38 3/8” 5” 7-3/4” 0.347” 0.488”

MT6PBIJJ-12 1/2” 8” 9-5/8” 0.465” 0.591”




Cable Rail Kits
13 Turnbuckles and

13 Studs w/
200 ft. of Cable

S — —
e — e ———
-
- Cable Size Thread
CHCR300-18 1/8in. % in. Rod and Stud
CHCR300-316 3/16in. % in. Rod and Stud
CHCR400-18 1/8in. Lag and Stud
CHCR400-316 3/16in. Lag and Stud
CHCR500-18 1/8 in. Toggle and Stud
CHCR500-316 3/16in. Toggle and Stud
CHCR600-18 1/8in. Deck Toggle and Stud
CHCR600-316 3/16in. Deck Toggle and Stud
CHCR700-18 1/8 in. Drop Pin and Stud

CHCR700-316 3/16in. Drop Pin and Stud




